
MATHS

BOOKS - NTA MOCK TESTS

INDEFINITE INTEGRATION

Single Choice

1. The value obtained on  would be

A. 

B. 

∫√4 − x2dx

x√ + 2 sin− 1 x + C
4 + x2

2

x√4 + x2 + 2 sin− 1 x + C

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pWYHswKvPDIS


C. 

D. 

Answer: D

View Text Solution

x√4 − x2 + 2 sin− 1( ) + C
x

2

+ 2 sin− 1( ) + C
x√4 − x2

2
x

2

2.  is equal to

A. 

B. 

C. 

D. 

∈ dx
sin8 x − cos8 x

(1 − 2 sin2 x cos2 x)

− sin 2x + c
1

2

−sin2 x + c

− sinx + c
1

2

sin 2x + c
1

2

https://dl.doubtnut.com/l/_pWYHswKvPDIS
https://dl.doubtnut.com/l/_zN5FdoSSmjhF


Answer: A

View Text Solution

3. If m is a non zero number and

, then f(x) is

equal to

A. 

B. 

C. 

D. 

∫ dx = f(x) + c
x5m− 1 + 2x4m− 1

(x2m + xm + 1)3

(x5m − x4m)

2m(x2m + xm + 1)
2

1

2m
x4m

(x2m + xm + 1)
2

x5m

(2mx2m + xm + 1)2

2m(x5m + x4m)

(x2m + xm + 1)
2

https://dl.doubtnut.com/l/_zN5FdoSSmjhF
https://dl.doubtnut.com/l/_T8XhAwUBtfnP


Answer: B

View Text Solution

4. If , then 

equals

A. 

B. 

C. 

D. 

Answer: C

In = ∫sinn xdx nIn − (n − 1)In− 2

(sinn− 1 x)(cos x)

(cosn− 1 x)(sinx)

−(sinn− 1 x)(cos x)

−(cosn− 1 x)(sinx)

https://dl.doubtnut.com/l/_T8XhAwUBtfnP
https://dl.doubtnut.com/l/_AbQoQ7p6QUZ4


View Text Solution

5.  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫(cos − 3 / 7 x)(sin− x)dx
11
7

log∣∣sin4 / 7 x∣∣ + c

tan4 / 7 x + c
4

7

− tan− 4 / 7 x + c
7
4

log∣∣cos3 / 7 x∣∣ + c

https://dl.doubtnut.com/l/_AbQoQ7p6QUZ4
https://dl.doubtnut.com/l/_7oyl9i9RuHLc
https://dl.doubtnut.com/l/_EsqyW5rPEMZX


6. If , then a is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫uv' ' ' dx = uv' − vu' + a

∫u' ' vdx

∫u' vdx

∫uv' dx

∫u' ' dx

7.  is equal to

A. 

∫ dx
xe− 1 + ex− 1

xe + ex

loge(xe + ex) + c

https://dl.doubtnut.com/l/_EsqyW5rPEMZX
https://dl.doubtnut.com/l/_fZadPvSjHQvR


B. 

C. 

D. None of these

Answer: C

View Text Solution

e loge(xe + ex) + c

loge(xe + ex) + c
1

e

8. If  ,

then value of a and K respectively ar

A.  and 

B.  and 

∫ dx = a log( ) + C
(√x)

5

(√x)
7

+ x6

xK

xK + 1

5
2

2

5

2

5

5
2

https://dl.doubtnut.com/l/_fZadPvSjHQvR
https://dl.doubtnut.com/l/_j8tfZXslGKHe


C.  and 2

D.  and 2

Answer: B

View Text Solution

5

2

2

5

9. 

A. 

B. 

C. 

D. 

∫ dx =
e3x + ex

e4x − e2x + 1

tan− 1(ex − e−x) + c

tan− 1(ex + e−x) + c

2 tan− 1(ex − e−x) + c

2 tan− 1(ex + e−x) + c

https://dl.doubtnut.com/l/_j8tfZXslGKHe
https://dl.doubtnut.com/l/_HLt9e4ncIFDS


Answer: A

View Text Solution

10. If , then 

 is equal to

A. 

B. 

C. 

D. 

Answer: A

∫f(x)dxk = f(x)

∫{f(x)}2
dx = g(x) + c. g(x)

{f(x)}21

2

{f(x)}3

f(x)

{f(x)}2

https://dl.doubtnut.com/l/_HLt9e4ncIFDS
https://dl.doubtnut.com/l/_sxDI7okavsYQ


View Text Solution

11. , is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫{log(logx) + }dx
1

(logx)2

log(logx) + c

x log(logx) + c

x{log(logx) − } + c
1

logx

+ c
x

logx

https://dl.doubtnut.com/l/_sxDI7okavsYQ
https://dl.doubtnut.com/l/_4yFRxE7dsLA0
https://dl.doubtnut.com/l/_s1nz1tcRf50D


12.  is equal to

A. 

B. 

C. 

D. None of the above

Answer: C

View Text Solution

∫(tan 2x tan 3x tan 5x)dx

log|sec 2x| − log|sec 3x| − log|sec 5x| + c
1

2

1

3

1

5

log|sec 2| + log|sec 3x| + log|sec|5x ∣ + c
1

2

1

3

1

5

log|sec 5x| − log|sec 2x| = log|sec 3x| + c
1

5

1

2

1

3

https://dl.doubtnut.com/l/_s1nz1tcRf50D


13.  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫ex{ }dx
1 + sinx cos x

cos2 x

ex cos x + c

ex secx. tanx + c

ex tanx + c

ex cos2 x − 1 + c

https://dl.doubtnut.com/l/_JLJWkfBUTqCx


14. , then P equals

to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫ dx = P√cot x + Q
√cot x

sinx cos x

1

2

−1

−2

https://dl.doubtnut.com/l/_Dmxgnp8ok25e


15.  is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫e− 2x sin 3xdx

e− 2x[sin 3x + cos 3x] + c
1

13

− e− 2x[sinx + x cos 3x] + c
1

13

e− 2x[2 sin 3x + 3 cos 3x] + c
1

13

− e− 2x[2 sin 3x + 3 cos 3x] + c
1

13

16.  is equal to∫x3xdx

https://dl.doubtnut.com/l/_wtfNQCjColH5
https://dl.doubtnut.com/l/_c0xWRb6ukMuS


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

+ c
x4 logx

4

[4x4 logx − x4] + c
1

16

[x4 logx − 4x2] + c
1

8

[4x4 logx + x4] + c
1

16

17.  is equal to

A. 

B. 

∫ dx
5(x6 + 1)

x2 + 1

5(x7 + x)tan− 1 x + c

x5 − x3 + 5x + c
5

3

https://dl.doubtnut.com/l/_c0xWRb6ukMuS
https://dl.doubtnut.com/l/_7HV1SZ7xr2Jk


C. 

D. 

Answer: B

View Text Solution

3x4 − 5x2 + 15x + c

5 tan− 1 x2 + 1 + log(x2 + 1) + c

18. Integral of  is equal to

A. 

B. 

C. 

D. 

∫
dx

sinx + √3 cos x

log tan( + ) + c
x

2

π

2

log tan( + ) + c
1

2
x

2

π

6

log cot( + ) + c
1

2
x

2

π

6

log cot( + ) + c
1

2
x

2

π

6

https://dl.doubtnut.com/l/_7HV1SZ7xr2Jk
https://dl.doubtnut.com/l/_jJCXEvGRP4Ri


Answer: B

View Text Solution

19.  is equal to

A. 

B. 

C. 

D. None of these

Answer: B

View Text Solution

∫
dx

4 cos3 2x − 3 cos 2x

log + sec 6x + tan 6x ∣ + c
1

3

log|sec 6x + tan 6x| + c
1

6

log + sec 6x + tan 6x ∣ + c

https://dl.doubtnut.com/l/_jJCXEvGRP4Ri
https://dl.doubtnut.com/l/_NImM9sB1PIOZ


20.  is equal to

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

∫ dx
sin 3x

sinx

x + sin 2x + c

3x + sin 2x + c

3x + sin2 x + c

https://dl.doubtnut.com/l/_NImM9sB1PIOZ
https://dl.doubtnut.com/l/_KvyWboiY4BzS


21. If , Then f(x) is

equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫ dx = log log sinx
f(x)

log sinx

sinx

cos x

log sinx

cot x

https://dl.doubtnut.com/l/_LYoCBUvlQ1Ow


22.  is equal to (where C is

an arbitrary constant)

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ dx
In(x + 1) − Inx

x(x + 1)

− [In( )]
2

+ C
1

2

x + 1

x

C − [{In(x + 1)}2 − (Inx)2]

In[In( )] + C
x + 1

x

−In( ) + C
x + 1

x

https://dl.doubtnut.com/l/_SOd3dxofAEXZ


23. If  where A is any

arbitrary constant then the function f(x) is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫ dx = f(x) + A
1

(1 + x)√x

2 tan_ 1 x

2 tan− 1 √x

2 cot − 1 √x

loge(1 + x)

https://dl.doubtnut.com/l/_ZqPeL0TJlk0Y


24.  then 

 is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫sin4 xdx = ax + b sin 2x + c sin 4x + d

8a + 4b + 32c

0

1

2

3

https://dl.doubtnut.com/l/_CFXdpGP4ozIk


25. .

Find number of divisiors of 30k.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫ = k( )
1 / 4

+ c
dx

(x − 1)3 / 4(x + 2)5 / 4

x − 1

x + 2

2

8

6

5

https://dl.doubtnut.com/l/_nm6JRHd3jgXY


26. If ,

where c is a constant, then g(2) is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫ dt = (g(t))2 + c
log(t + √1 + t2)

√1 + t2

1

2

log(2 + √5)
1

√5

2 log(2 + √5)

log(2 + √5)

log(2 + √5)
1

2

https://dl.doubtnut.com/l/_SufMO1v4vqQy


27. If , then I equals to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

I = ∫
dx

x√1 − x3

log
∣
∣
∣

∣
∣
∣

+ C
1

3

√1 − x3 − 1

√1 − x3 + 1

log
∣
∣
∣

∣
∣
∣

+ C
1

3

√1 − x3 + 1

√1 − x3 − 1

log∣∣1 − x3∣∣ + C
2

3

log∣
∣x + √1 − x3∣

∣ + C
1

3

3
2

https://dl.doubtnut.com/l/_V49TBBBkLQXU


28. Let  and ,

then f(x) is equal to

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

f(0) = f' (0) = 0 f' ' (x) = sec4 x + 4

log|sec| + tan2 x + 2x22

3

1

6

log|cos x| + an2x + 2x22

3

1

6

log|secx| + tan2 x
2

3

1

6

https://dl.doubtnut.com/l/_X5LSnIIRBDVl


29. The valueof  is equal

to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ dx
cos x

sin2 x(sinx + cos x)

log
∣
∣
∣

∣
∣
∣

− cot x + C
1 + tanx

tanx

log
∣
∣
∣

∣
∣
∣

+ C
tanx

1 + tanx

log
∣
∣
∣

∣
∣
∣

− tanx + C
tanx

1 + tanx

log
∣
∣
∣

∣
∣
∣

+ cot x + C
tanx

1 + tanx

https://dl.doubtnut.com/l/_VbzU0t3KYNSh


30.  is equal to

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
dx

sinx + cos x + √2

− tan( ) + ( ) + C
1

√2

x

2

π

8

tan( + ) + C
1

√2

x

2

π

8

cot( + ) + C
1

√2

x

2

π

8

− cot( + ) + C
1

√2

x

2

π

8

https://dl.doubtnut.com/l/_3EAriIH5wGxs

